AFLFE RN, ROEFV T,

B AL 8 &

1 MLEITHA B

ASFI14E5 H23H

2 THFDOLTR

LR IO T T a7 F e

oA e

SFA

T

3 THEEDOET

FHu L7 — e 2—

4 EILE WP AR T 260
5 WALAmEE & 1,250,000 [ (Bitk)
6 TFIEfiiks & 1,700,000 M (Bik)
7 BRI RAT & 3 (Bi)
¥ F 4 251 =) i
B — 2 T R
MR T2 1,250,000 [ HL
R EEHR T3ERR TR
=R T 2E6R 1,480,000
Wy a—<5U 7L EER
V)Y FH P 2 1,449,500




AFLFE RN, ROEFV T,

B AL 8 &

1 MLEITHA B

ASFI14E5 H23H

2 THFDOLTR

BRE  IDFEARRT 7 2 T

3 LHEDOEHT

FHu L7 — e 2—

4 EILE () P 3
5 WALAmEE & 1,840,000 M (Bitk)
6 TFIEfiiks & 2,510,000 [ (Fi4k)
7 BRI RAT & 3 (Bi)
¥ F 4 251 =) i
@Y — B X LW 2,010,000
() & o A S 2,260,000
R EEHR T3ERR TR
=R T 2E6R 1,970,000
Wy a—<5U 7L EER

(SR T PE

1,840,000 7% AL




AFLFE RN, ROEFV T,

B AL 8 &

1 MLEITHA B

ASFI14E5 H23H

2 THFDOLTR

S R RTER AR 7 BB E (CD— [ &) kY
FHHTEBARTEBA AR 7 B #hH (CD— 1) A

3 THEEDOET

7 MU Sul i WA ] 5 15 YR P AT

4 EILE H AR T3 A B 20

5 WALAmEE & 51,503,000 [ (Bitk)
6 TiEAf & 51,785,359 [ (FBifk)
7 BRI RAT & 3 (Bi)

E e &5 1 [|l(H) i =

H ABE b T EERAH 51,503,000 74 #L
e YV & A E D 51,633,000

AAR KT A 4 2 T AR i S0 51,703,000

(B O R > 7 A ERT 51,604,000

NN > 7 TR A FH AT a1

R WP o 7 U ST 51,753,000

D= AN TS T3 U ST 51,650,000

WR7~ 71 L7 THPH O AT 51,683,000




AFLFE RN, ROEFV T,

B AL 8 &

1

MLHATHA R

ASFI14E5 H23H

2 LHFEHEOLH ST B RF R R R B B 5 A AL B R
3 LHHEOEFT o U S8 i T AT ] < 55 4 5 1M DA
4 VEALHE THENa X A B HERIE
5 PALATHS 4 34,955,560 M (Bifk)
6 TiEAf & 35,253,759 [ (Bik)
7 BAR I BRAM A & [ (Bi4%)
E e &5 1 [|l(H) i =

THE b 3 ¥ BB EEERE

34,955,560 % FL

THEH B ZhEE

35,112,600




AFLFE RN, ROEFV T,

B AL 8 &

1 MLEITHA B

ASFI14E5 H23H

2 THFDOLTR

A Wi RG N B AR TR (26) MO
25 T IS B /N R ) AR e DU i R B R R B (2) A

3 LHEDOEHT

7 MU Sul i WA ] 5 15 YR P AT

4 VAL BRIE K P
5 WALAmEE & 17,053,680 M (Fi4k)
6 TFIEfiiks & 17,172,436 19 (Bitk)
7 BRI RAT & 3 (Bi)
E e &5 1 [|l(H) i =
0 X ARE DTS T R 3ERT 17,073,680

(MY NS 17,053,680 | 7L
= ARV BB 17,113,680
R HpE= 17,133,680
KRR PEZEM 17,093,680
=0 e @42 D7 17,163,680




